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m A=
& &316,962,000& 316,962 283,500 33,462
= 126,785 113,400 13,385
< 56,393 50,393 6,000
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mAEXSI 2 (XA & &25,375,000& 25,375 26,000 A 625
FE Ol 2 ALY 1,571,030 1,572,130 A1,100
201 Ler2d 67,600 68,700 A1,100
01 APR 22l 20,900 22,000 A 1,100
mBt~=ZH] 8,900 10,000 21,100
Ost=0ge 2 &8,900,000& 8,900 10,000 A1,100
Sl S0l 564,021 478,021 86,000




SN A =T
Ha: OlE0es 2H
ool MERE CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
401 NEHIL2THEI 100,000 0 100,000
01 Al bl 100,000 0 100,000
WAL &Y 2A2YM  100,000,000% 100,000 0 100,000
405 Tt St 266,000 280,000 A 14,000
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oFe IH2 XA Zul A
232,000,000 2,000 2,500 A500
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w Al & ZH| = X bl 2 &3,000,000& 3,000 1,325 1,675
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=X32 &4 1,959,384 1,796,999 162,385
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LIRS pNg=d 11,250 0 11,250
OEtol b2 DA =X & XH(4500)
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